
set 0 AREA:  Lag B'Omer Meron  start=2663 tc = 15933
numrows = 8 numcols = 22 cyl_size 15933 comp =

1.760000e+002 (1,1)E=60; p=43.5/1000

Shimon Bar Yochai i`gei xa oerny Zohar xedf

1/02:20fxecbpkeltiedidnidl`zx1/02:21

1/16:06idpdkzgtykciaiyrdlaehd1/16:06

1/26:03`kkxaikklkrxflepz`z`lk1/26:03

1/34:25gebxdielkxkfz`exengz`e1/34:26

1/43:23e`veindl`z`perny`aie`d1/43:24

2/04:09idyaeidenindxy`gwzpnid2/04:09

2/14:05xdreicarel`nrdexn`iedn2/14:05

2/25:20anditpklrzxtkdndiptei`2/25:20

          1 perny
  15933 i`geixa

          7 xdef


